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Each question carries half mark : Marks : 80 (160x12)

l. Choose the correct form of verb given in brackets for the following :

1. He (come) to the gate, if you call him mildiy.
A) comes B} will come
C) has come B D) had come

2. If she (be) sincere, she will definitely help you.

A) canbe B) istobe
C)is D) none of these
3. 1 would have reached in time, if my ear (not break) down.

A} did not break down B B) was not broken down
C) had not broken down D) is not broken down

4. 1'should have finished the work; if | (get) half an hour.more. " e

Ay got © B) had got
C) would get - :

: _ D) was to get
5. He speaks as if he (be) the spokesman, ' L
A) is. "B} was C) will be - D) were

I. Choose the correct preposition from the following.

6. Hewasstanding ______ thegate. :

A) in _ By at

C} by _ D) none of these
7. Dr. Bam works the central hospital.

A) at B} in

C) on D) none of these

HIL. Pick out synonym from the following.

8. Quench _

A) satisty B) unhappy

C) clear ' D) mislead
9. Duplicate .

A) replica B} part C) single D) share
10. Reprimand ‘

A) complement ' .~ B} praise

C} scold - . D) compliment
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IV. Pick out correct antonym from the following. A

11. Celibacy

A) Bachelorhood B) Wedlock
C) Idle . D) Inertia
12. Repudiate
CA) reject B) affirm

C) deny i D) mistake

V. Choose one word from the following :

13. A Government system in which one person has complete control ?

A} Autocracy B) Democracy
C) Autonomy . D) Autism
14. One who does not believe in Ged 2~~~ -
A) Theist L B)Y Atheist
C) God man G DY Giod woman

V. Choose the correct meaning from the following. ..o . .o

15. Bonafide _
-A) Cheat f 0t B) Hide .
C). Good faith D) Meaningless
16. Adinfinitum ~ " "
A) Restricted B) Without limit -~
C) Short - D) Long . -
17. To burn the midnight oil
A) go without working R B) to work late into the night -
C) to sleep early “" D) none of these '

18. Bonhomie _
A} Litigation B) Friendship
C) Injustice D) Fight '

Vit Pick out sounds of animals/birds from the following.,

19. Tigers EURTT
A) chirp | - - B) grow!
C) scream _ . D)ery
20. Owls
A) screech : B) chatter
C) whistle SRR D) bleat
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21.

22.

23.

24.

25.

26.

~A) reconciled - B) over written "

27.

28,

29,

30.

31,

32.

Audiiing is ... of accounting to find out the correctness of the transactions related toit. .

A) verification S B) examination
C) study D) investigation
Accountancy begins where __ ends. - _

A} auditing o B) transaction
C) hookkeeping T D) scrutiny
Internal Auditing is the independent ___ — within an organization.
A) review o B) appraisal

C} checking . D) none of these

There should be no entry | in the books of accounts without a

A) document 3) transactson
C) voucher. S _ D) correspondence

A written evidence in original is said to be D
A) primary voucher : Lo B) secondary.voucher .. .
C) collateral voucher . . - D)noneofthese .

The difference in figures is _____ and causes for their existence are brought to llghi

C) suppressed o ' D) corrected

e _ kepi by the auditor come torescue at a time when a syit is filed against him for negllgence
A) Audit report ' IR . B) Workmg papers N i
C) lnforr_natlon collected _ S D) Final accounts

The unclaimed dividend will be shown as e e e
A) asset ' B)loss =~ . - . C) liability D) .profit .. -

Internal Control means

A} Checking the accuracy and reliability of the accountmg data
B) Promotmg operational efnc|ency

C) None of these

D) All of these

Under whioh category the expenses for the removal of the institution to more convenient place be lncluded 7
A) CapltaI Expenditure B) Revenue Expendlture i

C) Deferred Revenue Expenditure o D} None of these: = .

The Authorised Share Capital of a Primary Credit Co-operative Bank is 60 Lakhs and iis paid up share

capital is 45 lakhs. What is the amount to be paid as affiliation fee to the State Co-operative Union 7

A} 2,000 B) 1,900, . . . ©C) 1800 D) 1,200 -

Working capital of a Primary Vanitha Co-operative Society Rs. 8,500/-. What is the amount to be pa|d as
audit fees ? L _ o o
A) 10,00,000 B) 47.50 . CYes _' D) None of these _
5 1997/19
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33.

34.

35,

36.

37.

38.

39.

40.

41,

42

43.

44,

A

o

An audit made compulsory by—iaw IS a

audit
A) Internal Audit R B) Statutory Audit
C) interim Audit D) None of these
Audit Cost is related to audit, . :
A) Final audit L h B) Internal audit
C) Concurrent audit ' D) None of these
From the following which error does not affect the agreement of Traal balance ? '
A) Error of Partial Omission S _ B) Error of Principle
C) Errorof Commission -~ ... . D) None of these

The net profit of a Serwce Co- operauve Bank Rs. 20, 00 000/-. What is tho amoum to be patd as educataon
fund ? : .
A) 1,00 000/~ . B) .2,00,()00/-_,__ ' C) 60,000/ T .D) ‘40,0_00/-“ o

The main object of audit is to - : S
A) Centify the correctness of financra! statements B To detect errors and fraud R ST

C) To prevent errors and fraud = © 0 D) AII of these

Which among the toilowmg is notatechnlcal error’?- e
A Errorofcommlssmn o B) Erorof principle T
C) Error of partlal omussmn L D) Oompensaﬂng erors -

'Goods purchased from Jagan for ? 5 000 i cred;ted to salos accoum ? 5 OOO it is an error of

A) Compensating error o "B) Error of principle
C) Error of commlssnon - ': o ' D) None of these

One of the basrc pnnmple of auditor, he must be L
A) An honest person ... B) Sincerein his work
C) An mdepen_d_ent ou_tsi_d_er S -~ D) Noneofthese

Banks are called because they mvest or lend funds of deposutors who themsekves are unable
to lend their funds due to risk: ' _
A) Financial mstltut_aons S T o B) Financial intermediaries

C) Financial agents STt D) Facilitators

What pomon of demand and tlme Iaablhtles of a Co opefative bank can be Iend by way of loans and
advances 7 :

A} after meeting cash reserve ratio. = o B) after meeting statutory hquidity ratio”

C) after meetmg CRR and SLR N _ _ D) aﬁer meetlng CRAR and SLR

Scheduied Co-operatlve banks should have pald up share capital and reserves of not iess than Rs
A} Rs. 5 lakhs - SR B) Rs. 50 lakhs ' SRR :
C) Rs Scrores o o R D) Hs 50 crores

|n most of the States the Eong term Co operatave credit structure isa ___ pattern
A) Umtary ool By Mixed . . "C) Three-tier - S D) Two-tler S




45,

46.

47.

.48.
49
0.
.5.1 .
52,
53.
54,

55.

56,

I

The Reserve Bank of India was set up in - -
A) 1949 B) 1952 | C) 1935 D) 1982 -

Constitute the largest portion of Co-operative banks liabilities.
A} Paid up share capital : B) Own funds™
C) Borrowings SRS D) Deposits

Who was the Chairman of the Task force appomted by the Govemment of Keraia for the settmg up of the
Kerala Co-operative Bank ? e

A} Mr.Ravindranath o B) Mr. Sreeram

C)  Mr. Mohanan —— e D) Mr. Prakash Bhakshi - -

Capital to stk Weighted Assets Ratio System was introduced in Co-operative Banks in order to
- A) Cleanse balance sheet R B) Wipe of loss

C) Increase govemments share hofdings s D) Strengshen caprtal ‘base

The credrt card in the nature of clean overdraft for mult:purpose use including consumptron is " ? o

A) KCC - - 'B) GCC

C) Overdraft : R :-': D) Cash credit
Offermg additionat serv:ces to exrstrng customers rs calied f' o
A) retail banklng B o '_ B) retari credli
C_)) retasl deposn B '_ D) cross sellrng

The share capltal of Deposnt msurance and credlt guarantee corporation was quy subscnbed by

A Commercial Banks A B) Scheduled Banks -

cymrBlL o D) Central Govt

Central Bank of United States is known as S R

A) Bank of England o _ 8) Bankof us - - L

C) Federal Hesewe System . D) Heserve Bank of US

is ihe rate at whzch RBI re- drscounts eirglble briis of commercral banks .

A) Repo rate o o B) Reverse reporate . . ‘!_j;-.;.; e

C) Lending rate : D) E__Sank rate

An inoperative account after become unclarmed e

A) Two years o B) Three years

C) Seven years : : . D) Tenyears

The term ‘run on the bank' denotes L o

A) Increasing volume of deposit -~~~ - . - B) Increasing demand for loans .

C) Increasing volume of withdrawals .~~~ - D) None of these o

According to Section of the indian Contract Act authonzes banks to exercase a generai laen on
property_offered as security. i G

Ay 170 . B) 171 : ~ C) 172 e o) 173

h | - 7 1997/19




57.

58.

58,

80, .

61.
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The transfer of interest in an immovable property by a person fo a bankmg msinutlon for securmg a Icam is
called

A) Mortgage = B) Hypothecation

C) Pledge . ... DlLen

No banker shall open an account in the name of :

A) Minor S B) Married women

C) Drunkard . . | D} Insolvent

__Is anindirect payment sysiem
A} Interactive kiosk : ' B) MICR clearing
C) ECS clearing TR D) All of the above
- provides power suppiy continuously in'a core banking system

A) DC R TP B) AC

C) DG Set X '. RS D) Powerbackup

Contingent liabjlities are.shown as a foot note in the Balance sheetasper: .~ accountlng
. principles. _ Tk :

A) Entity L et B) Going concern

.C} Materiality _ : D) Full dlsclosu:e

~Acccrd_ihg to_._____conceptitis assumed that the busmess wil East for a long ttme

A) Maiching e e ‘B) Going concern

C) Cost = BT D) Entity |

63,

64.

65.

66.

" 67.

Which one of the following is different from others 7~ ..
A) To ascertain anthmet;ca! accuracy of iedger accounis
B) To help in logating errors - L
C) Tofind out solvency posmon oi the busmess :
D} To help in the preparatuon of fmal accounts

Find out the one SJded error

A) Machinery sold is ireated as sales S
B) Furniture purchased is treated as purchaseb '

C) Withdrawal by propruetor treated_ _a_s ‘expense

D) Cash received from Ajayan debited to his aCCount

The value of an asset after reducmg deprecration is called
A) Book value -B) Market value
C) Cost price we e D) Original value

Existing Provision i IS generally gwen |n o S
A) Balance sheet ™ S B) Trial balance -

C) R & D statement R D) None of the above
interest on capital is credited to R account o L R
A P&L B) Trading . C) Drawings . D) Capital .

o | 1997119




88.

69.

70.

71.

72.

73.

74,

75.

786.

77.

78.

79.

I

Bad debts written off earlier and subsequently received is debited to _ account.

A) Bad debts S T B) Debtors EERTEEES LN

C) Bad debts recovered : D) Cash

Depreciation charged in the initial years will be more in the case of - ‘method. -~~~
A} Original cost S B) Fixed installment iR

C} Mifage o D) Reducing installment

Profit on sale of fixed Assets is a @_protit.' ; P

A) Capital R B) Revenue

C) Divisible o D) None of the above

Cost of goods sold is Rs. 60,000, the reie of gross profit on sales is 2 '5% thon ealmwrll bc‘ ':
A) 25,000 3) 80 000 :' C) 15, 000 T D) 7’5 000 -_ Y

Which among the following is not an example of subsrcﬂary book ? |
A) Cash book y ) Pass book s

C) Purchases book o D) Sales book

The standard prescribed for ideal quick raté_o is-

AT Bz cm D>a SR
To ascertain total saies the account prepared is o NN |

A) Safes book coawwn o B) Sales a_c_cour_;t_ e

C)y Sales book and sa!esreturn book o D) Saies t_ed_g_er S

The SUSpense acoount is used to rectify : T T I e
A} One sided errors R R AT B) Errors whloh do not etfect thetraat baiance
C) Errors of prtncrples o [)) None of the above ERRE I,

Goods withdrawn by the owner for his private use shoutd be credtteot to

A) Drawmgs account AR B) Sales account |

C)..Purchases account Ctio C D) Caprtal accoum

Wages of workman emptoyed tor settmg up of new machmery should be debrted to W_W;M acoount
A) Wages . B) Cash ' ' RN
C} Machinery . . - o . o "-'D) Salary -

Sale of an oid asset at a price greater than the written down vatue would
A) Owners equity uneffected R R
B) Increase the owners equity to the extend ot loss
C) Increase owners equity to the extend of profit.
D) Decrease owners equity to the extend of proftt

Payment of monthly rent to landlord is
A) Ec__onor_rtic_ event B) Non-economic event
C) Economic and non-economic event .~ D} None of the above
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80- What fs prepared Under smgle entry system of accounting 7 - R

A Cash flow statement o NN - Statementofaffatrs
C) Fund ﬂow statement B D) R&Dstatement

81, The otflctal who_ tekes demsmn m dtsputes of Co- operatlve socrettee ?
LAY quwdator S o B) Valuation Officer

. C) Enquny Offtcer ' S S D) Arbitrator

8_2._'_Aff|hatson fee to the state Co operatave unton is calculated on .
LAY Gross Profrt Do T B) Net Profit
0 Share, Capltat ‘oo D) Reserve Fund .

-'._.'-"33;_Assouate r" rn_ber means T AT .
S ) Minor . :: i B B) Ex off;(‘:;o = o
i ominee. ~ T ' D) Nommat member

o)”20% " D%

BB _control rs the pnnmple of Co operattves - s e
) Centraltzed ) Democrattc j,':;'_' C) Ofﬁctai ~ .. D) Political

Th G IS the wntten record ot the proceedmgs of the meettng o
- IR B)DayBook

o D) Manutes :'_ o

_.Reglstrer' : . _- A i 2 B) Presn:lent L
__S_ecretary L e D) Chlef Accountant.

o 88",'3"The. Presndent and Offtce bearere of the soc:ety are to be elected wnhln | _ . from the date Of
oo oelegtions S i S
CA). 7days s B) 14days C) 15 days B D) 30days .

| -89. :Whach ot the fottowung type ot Co~operat|ve Socret;es are exempted from the payment ot Audlt fees ?
A) Credit Socuetles S - B) Transport Societies e O
-C) SC/ST Socretles S S D) Housing Societies

90. :Mlmmum penod requned to exchange or. w:thdraw share from-a Co-~ operatlve Society - _
' ) 3years B) 1year Sy :;' o C) Syears U D) 2years '

91 . The majonty reqwred to pass a Byetaw amendment of a Co operative Somety
A)1/3 I 8)2/3 _ C)3/4.._.__.. D)SO%.

92, __:Ftes "ut:on o conduct election to a Co operatlve Socaety, shoutd be taken atleast | days pner to
exprryofemstmg cemmlttee R e T e R X : .
CA)B0 _ B) 507 C) '45 R D) 60

83. Appomtment of Vlgltance Offlcer is as per Section _ _ o
A 67 B) 68 (1) s C) BBA D) e

10
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94 Rule empowers 1o the Registrar to rescing Resolution taken by a Co- operatlve SOCIety

A) 176 B) 177 C) 178 D) 179
95. How many Sections are there in Kerala Co- ~operative Socnet:es Act of 1 969 ?

A) 125 B) 150 o C) 115 ' D) 110
96. Provisions of the Act 4, 5, 6,7, 8, 15 and 74 deais wnth

A) Registration B B) Liguidation

C) General Body - D) Amalgamation
97. Reserve Fundis used for meeting

A} Share redemption B) Existing losses _

C} Unforeseen losses _ D) Expenses for land and prOpPrty__
98. The Jurisdiction of a circle Co-operative union is E

A) One District ) _ _ B) One Grama Panchayat _

~C) One Village R D) One Ta}uk o
99. Rule 16 is concerred with : D

A} Associate members _ o B) Adm|ssnon ofa member

C) Expulsion of a member N .. D Removal ofa member
100. F%epresentailve General Body is Consiltuted in'a Co- operatsve Society as per Sectnon m o and

Rule _. of KCS Act and Rules, 1969 S '

A) Seci 27 and Ruie 32 B B) Sect 28 and Rule 34

C) Sect 27 and ﬂule 34 LR ) Sect 28 and Rule 32
101. 1994 Co operative Prmcrpfes Revnew Commlttee was headed by |

A) Dr. lvan Mac Pherson L . B).Dr! Muller

C) Mac Legan SR R D) Karve
102. Joint Stock Compames require minimum _____ members for 1ts mcorporatlon_ '

A) 2 R B) 73_' i R _ C) 14 o Dy e4 '
103. In 1826 Robert Owen set upa vnllage commumty known as e

A} New HMarmeny : R B) LabourExchange

C) Friendly Societies = A D) UNICOOP R

104, ‘Poverty, disease and crime were all dug to the exnstlng social and economlc condltlons and co operatlves
were the only possible soluhon ‘Who said it 7 _ :

A} Robert Owen Sl o0 B) Schuize B
C) Dr. William King - o - D) Edward Law o
105. are cons»dered as the founder father of co- operattve prmmples
'A)_ICA_ - : : Ul e 'j B) Rochdale Pioneers
C) German Co-operators ' D) Russian Co -operators
106, is the organizational form of NCDC.
A} Statutory Corporation SRR B) National Co- operative Federatson
.. C) PublicLimited -~ .. e )An NGO _' B e e
A - o T - o 1997n19
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107.

108.

109.

110.

111.

112,

113

114,

115.

116.

117.

118.

119,

120,

e

... ensures distributive justice. _ o
A) Equity - B} Equality o ~C) Solidarity - “D) Honesty -

First ‘Moshave Ovd|m estabhshed in the year o
A} 1921 B) 1931 - C) 1948 - D) 1949

There are elected members in the Managlng Commmee of the Kerala State
Co-operative Union,

A) 19 Byz0 - . C) 21 ' D) 22
In 1961 UNICOOP was established in | B
A) USA B) Japan C) Russia f -D) China
The area of operation PCARDB IS uonfrned to _ -
A) One district B) One taluk
C) One panchayath D) One block
For withdrawing amount from debenture redumptnon fund of KSCARDB péfrrii_ésion_h_as tt_n
. be obtained. ' ' :
A) Government B) Preszdent _ "~ C) Trustee D)y MD .
Trade Deposit is acoepted by | i Ww socleties. |
A} Credit N . B) Consumer
C) M_ark_etmg' JE T A D) Nhik
Ke_ra_ja_rri is a product of i o
A} Rubbermark .. . .. ... . . B)Rubco
C) Market fed - . ... ... D)Noneofthese
Leéd'a'nd Link Scheme was formulated_by“_-” L . T woah
A) NCDC B} NDDB . C) NAFED D) NABARD. ... -
Double Compartmental System relates to ' Lk e
A} Industrial Sometles ' _ . B) Credit Societies
C) Marketing Somet;es : _ . _ ) Consumer Socueﬂes
Kerala Co- operative Milk Marketing Federatlon was establlshed in R
A} 1980 B} 1945 S C) 1979 D). 1985 .
The General body of Heglonai Co- operatlve milk producers unions consist of .
A) Pres:deﬂts of APCOS _ o .B): Bacretary's of APCOS -
C) Delegates of APCOS S ; D) None of these
Which one of the following is not ap#iicable to stude'hts Co-operative stores ?
A) Minors are Members - . - - ool oo By Monorary Secretary
C) Ex-Officio President - .- .. . . o D) Elected President
Coir mark scheme is intrbduced by o
A) Coirfed B} Coir board
C) State Govt. . . . I ; D) Central Govt. o -
EEP 1997/19
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- 121,

122.

123.

124,

125.

126.

127,

128.

129,

130.

131.

132.

133.

134.

135,

ifTEACH is coded as XIEGL, STUDY w;ll be coded as s -
A) WXYHC B) WXZID : C) WXYHV ~ D)y WXVHC

River : Dam : : Traffic ;. ? L _ : o
A} Signal B) Vehicle . C} Lane S -} Motion

Mahesh walks 5 KM towards North, then turns to his left and Wa.lks 4 KM. He ag'am turns left and waiks
for 5 KM. At this point he turns to his left and walks for 5 KM, How many KM is he from the startmg pomt ?

A} 5 KM B) 2KM - 0 C) 3KM D) 1 KM
9,12, 11,14, 13,7, 15 e : S
A} 17 B) 14 o C) 18 D) 16
31,29, 24,22, 17, ? T . o
A) 15 B) 14 _ C) 13 oDy 12
'Find the odd one.
A} Debit B) Deposit C) Deduction D) Withdrawal .

If PAINT Is coded as 74128 and EXCEL is coded as 93596, then how wdhld you code ACCEPT 7
A) 455798 B) 455978 _ .. C) 455678 D) 475598

The. dafference between presem ages of. Kannan and Jayan is 6 years. The ratlo between theur ages aﬂer
4 years will be 3 : 4, What is the present age of Jayan ? -

A) 14 years B} 18 years : C) 20 years D) 24 years

tow many days will there be from 26"‘ January 2004 to 15‘h May 2004 (both the days tncluded)
A) 110 R B) 111 oo Gy 112 - oDy 113

Find tﬁe wrong number in the series.
5, 27, 61, 122, 213, 340, 509

A) 27 B) 61 C)122 % w0 D) 509
Find the odd one. o o

A} Copper . ' o B) Zinc

C) Brass » Can D). Aluminium -

Find the odd number.
A) 7 B) 15 08t Dy s

if 16 men or 28 women can do a work in 40 days In how many days will 24 men and 14 women complete
the same work ?

A) 18 B) 22 - ‘92 . D

A traan of 300 meters iength is running at a speed of 25 meters per second, |t wsli cross a bndge of
200 meters length in .

A} 5 seconds - B} 10 seconds
C} 20 seconds o -+ D) 25 seconds

Horse is related to Hoof in the same way as -Eagl_e is related io

A} _clutch B) leg ~ C) claw D) foot
- 13 1997/19




138.

137.

138.

139,

140.

141,
142,
143,
144,

145,

146,

[RUMRE AR

Count each 7 which is not immediately preceded by 5 but is immediately follow by sither 2 or 8 How
many such 7’s are there 57 265 73 83 73 2572734826787 ;

A) One ' B} Two U C) Three ' ' D) Four.

The door of Arun's house faces to East. From the back side of his house, he walks 50 M straight, then
turns to the right and walks 50 M again. Finally he turns towards left and steps after walking 25 M, Now
Arun is in which direction frem the startmg pomt 7

A) South-East " B) North-East
C) South-West D) North-West

Find the wrong number in the series 2, 5, 11, 23, 47, 96, 191.
A) 47 - B} 96 o C) 23 : DYy 191

It second Saturday and all Sundays are holldays In 30 days month begmnmg on Saturday Then how
many working days are there in that month 7.

A} 20 B4 C) 22 ' D) 23
A 28 e BB T e D) R
MyTruth is wntten by - ST o o ' :
A indira Gandhi T ... B) Mahatma Gandhi ..
:C) R K. Narayanan ' D) Abdul Khaiam Azad
_Whlch day :s observed as the World Populataon Day7 _ ) | o _
A} July 17 ) July11 : C) June 28 ERbt _- :D)"*'J__Un'e'_1_1 B
Telewsron was mvented by R .' - - .' o
) B;ard C B) Newton oo Gy Watts o -D)':-_Daiten'“_'_'_. 3
The concept of zero was flrst glven by the _
- A) Greeks o R ST B) Arabs
O lndran ' ': oo Dy Egypt;ans
Whrch one of the foiiowmg peraod is referred as the classucal age or golden age of Ancrent mdla e
A) Gupta . B) Maurya ' C) Paiiava D) Chola
Which Article of indian Constltutlon deais With Budget ?
A) Articie 8. . B) Articie 12 -
C) Artlcle 262 I _' S D) Arttcle 324

147.

148,

What is lndlas rank in the Global Competlirveness index of the World Economlc Forum (WEF) released
in Sept.. 20187 - o '

Ay 380 B) 8‘“ _ C) 584 D) 68"
The 2018 Nobel Prize in Physics has been won by Gerard Mourou, Donna Strlckland and
A) Michael Kosterlits ~ . -~ B) Serge Haroche

C) Arthur Ashkin ' ' o D) Albert-Kurtz
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149,
150.

151,

152.

153.

154,
155,
156.

157.
158,
159,

160.

Which of the following bodies regulates the Regional Rural Banks ?

A) RB! B) NABARD

C} Dept. of Ruraf Development Dy SIDBI

With which game Canada Cup is associated ?

A} Golf B) Cricket

C) Footbalt D} Lawn Tennis

The background colour of Olympic Flag is

A) Yellow B) White C) Light Blue D) Silver
Golden Awards are given for outstanding contribution in which of the following fields ?
A) Population control B) Popularization of science

C) Conservation of energy D) Protection of environment

When International *Yoga Divas’ is celebrated ?

A) May 1 B) June 21 C) Ap_ri_F 25 D Juyz
‘Higher than Hopes’ rsabrographyof ' e '

A}, Mother Teresa T B) Nelson Mandela ;

C) Bsshop Tutu S ; _' RO D) None of the above

Whrch of the followrng is the flrst country to 1mposed carbon tax ’P

M) NewZealand  B) Noway . ) Amerioa. ;D)--'Aﬁstré“é'f"j-'-“-';.:_-'. T O

Whach of ihe foliowmg has not yet been wsrted by NASA or ESA 2. L U e
A) Venus R B) PIuto C) Mercury e D)Trtan e
Whlch of the followrng is orrgrnarly assocrated with Kerala culrure’? _ o

A) Kathak ' - o B) Kuchrpudi

C) Bharathanatyam o ) Mohrnlattom

Who is the Chancellor of the Central Umversaty of Kerala 2 _

A) Prrme Mrnlster R S B) President of Indra '

C) Vice Presrdent D) Governor of Kerala o

How many Districts were there when Kerata came rn!o exrstence on November 1 1956 ?
A} 8 Districts B B) 5 Dlstrrcts n
C) 6 Districts e D) 7 Drstncts

When Onam was declared as a National Festival by the Kerala Government ? k G
‘A) 1961 B) 1971 . . 0 o C)A9BT D) 1991
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